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4.2: y=cosx DT T 7
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4.3: y=tanx OV T 7
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sin(91 + 92) =
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sin 01 cos 65 + sin 6 cos 01

cos 01 cos O3 — sin 6 sin 6y
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2’ = cos(01 + 02),
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sin (x + %) =cosz,
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cos (x + 7) = —sinz,

(2)
sin(z £ 7) = —sinz,
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tan o 4 tan 8

t = ST
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(4) EHOAR:
sin 20 = 2sinf cos 0,
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sin 30 = —4sin® 6 + 3sin¥,
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y/ = sin(91 + 92)
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tan o — tan 3
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cos30 = 4cos® 0 — 3 cosh
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(6) FADLI:

(7) FOFEAR :
sina + sin 8
sina — sin 3
cosa + cos 3
cosa — cos 3
(8) FEFOIAI :
sin asin 3
sin v cos 3
cosasin 3

cos a.cos 3

1 { cos(a + ) — cos(a — ﬂ)}

%{ sin(a + ) +blﬂ0€—ﬂ)}
%{sma—i—ﬁ —sma—ﬂ)}
1
2

{cos a+ 3) + cos a—ﬂ)}
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